Round Robin Round 4 By Natalie Rogers

Key

- picot (3 tines on large Clover picot comb)

= double picot (5 tines on large Clover picot comb)

+join

SR: #|# split ring

R: 3-3-3-3

R: 2+5=1+5-2

R: 3+3-3-3

Ch: 5+(to right of center picot on corner of motif)2+(next picot)2+(first unjoined picot of next ring)2
R: 5+2=1+2-5

Ch: 2+(next picot)2+(swirl join to last picot of ring and first picot of next ring)2+(next picot)2

R: 5+2=1+2-5

Ch: 2+(next unjoined picot)2+(next unjoined picot of next ring)2+(next picot)5

**

R: 3-3+3-3

R: 2+5=1+5-2

R: 3+3-3-3

Ch: 5+(to right of center picot on corner of motif)2+(next picot)2+(first unjoined picot of next ring)2
SR: 5+3 |7

SR: 3-3|3-3

R: 2+5=1+(swirl join double picot through picots nearest to joined corner of previous round)5-2

SR: 3-3|3+3

SR:3-5|7

Ch: 2+(last unjoined picot of ring before center corner ring)2+(next unjoined picot of center ring)2+(next
picot)5

R: 3-3+3-3



R: 2+5=1+5-2

R: 3+3-3-3

Ch: 5+(to right of center picot on corner of motif)2+(next picot)2+(first unjoined picot of next ring)2
R: 5+2=1+2-5

Ch: 2+(next picot)2+(swirl join to last picot of ring and first picot of next ring)2+(next picot)2

R: 5+2=1+2-5

Ch: 2+(next unjoined picot)2+(next unjoined picot of next ring)2+(next picot)5

**repeat until round is complete




